»rese CEEAEIESY »P.740

FEXIER

»P.740

113

F

~
w
SCSS

_

SV IN—{¢

AIVY—FREI\L— b HS5="

1=t )| RoHS @
si1ens | Y lE

\
&,

TINU—MBEICKD. Vv T hEIEDIID T EFLHDHIIHTEEXT,
2 v 7 MAHMIIFEOEID HF RO A LBBRICTEX T,
FUN—DeH BREL([CKDBFESZENLET,

BER_TILAYF

hF A BB SUS304
WELE & RENIE 1B SEHI
Z |8 S45C/ hF AL BREEE RANRMRILN(BFD) 24 -
M | $% S45C EERR=—vTILAvF | RANRFHRIVN(SUSXMT7) 27K SCSS 061 2D
S | 27 LX SUS304 ARATATAILN (SUSXM7) 274
AE6mm. 1§12mm. H F 4 > EEFRE
YLgs piNES BT © mm
!
X s
ol « |
o © U
>< [ B . @
¥ PBIERE
®B NE
0.03
06 | 1007
L 08~30 | 1387

BEE  susaos
z | m | 8

2 4 SCSS 061201D | 1,480 | 1,690 | 2,290

8|18 30| 3 | A70 | 15| 9| 5 | Mexi5 |SCSS08180ID| 1,530 | 1,750 | 2,400
1018 |3 | 3 | A70 | 15| 10 | 6 | Mex18 | SCSS1018[ID | 1,590 | 1,860 | 2,730
12 | 18 35 3 A70 1.5 11 6 | M6x18 | SCSS 1218 |ID | 1,590 | 1,860 | 2,730
1318 | 35| 3 | A70 | 15| 11 | 6 | M6x18 |SCSS 13181D| 1,590 | 1,860 | 2,730
1518 |40 | 3 | A70 | 15| 13 | 8 | Mex20 | SCSS 151801D | 1,690 | 1,970 | 3,000
1618 | 40 | 3 | A70 | 15| 13 | 8 | M6x20 | SCSS 16180ID | 1,690 | 1,970 | 3,000
20| 20 [ 45 | 5 | A70 | 15| 15 | 8 | M6x20 | SCSS 20201D | 1,910 | 2,180 | 3,270
25|20 | 50 | 5 | A70 | 15| 18 | 10 | M6x25 | SCSS 252001D | 2,180 | 2,460 | 3,660
30| 20 | 55 | 5 | A70 | 15| 20 | 10 | M6x25 | SCSS 302001D | 2,290 | 2,730 | 4,090

~
L scss

iwata





